EARAROBREBRT —5 XN—ZXBISH—F

20235108158 (B) 15@&R18

B UrpoBmsEFOUEEl C21 YSRRK [ m |memm - | 7 ol ®
[KEE] 1&:410,00H ~ 2&:131,000H  37#%&:6500M  4%&:49,000H  53&:41,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SW_ s oaw < SHUIES : -4-4- - )1z (&R)
Wl vivava—y 3 | B4 1.(2_9).1 4-4-4-3 |37.4 1 (4+670) il
RIRVT Y B:FITRARIAL et e
= £y 3 | WPt 1:29.6 5-5-5-5 |37.8| — 6 457 | HERE (&R
2|5|5|7174%3I5 77| s 2 1/2) 1) ") 1 PN
RFURYZvT 8B:T74VXD=)LR &M 2
. : 11- - SiEEE (&
s 4 | PR RYTAIK #o4 | REIR 1(72?:)6 1-1-1-1 | 38.5 2 (4:338) ﬁggg &R
RIRITIATAwID+UT— B:FEF/NF =k
M- 3 | ke 1:29.7 3-3-3-2 [38.2] - 3 | 482 |NERE &R
41|1|TEvIE—D R (72 @y | @ Ir—ZhEVIY
R:AIU—=vke—0O— B:YF47F ==e ]
3 » 3 | EBELA 1:30.3 2-2-2-4 |39.0| - 4 | 47 |EB—8 @R
518110 ¥TYHAILA—IL i 54.0 Q) “13) | B SWI7—i
RiboO—ILR B:=Z3T)LH-IL BB
= ® hEHEth : ~7-6- - EH—E (&R
6 7| 5FIT—RUYT # 3 | DB (11310/25) 8-7-66 | 38.7 7 (4+778) =0
RiS=Z B:RIL—F gilll Al
< NERS : -5-7- - TEERE (&R
71718 DovF—0v b "3 AE4.0 1'(32(;'9 577|389 8 (‘_?g) SH/RERI @R
RE—=FNrO-V B:Yv—TIYvh— Hh &=
S » BEHELE : -8-8- - FFH=E (2R
s B 3| OXYFvok—a 3RS Ly | Toee (8 S & ies
RS/ IIv T4 B:OIVFYIFR Us &N RS
— s s 7 | HER 1:31.5 10-9-9-9 [38.7| - 9 | 418 |SiEEE (&R
N . RES:E1L 540 G i | @ Enws
RiJ7—=UF7Y B:h—DIRVF AR
S0 == S oL Y 4 | BEXT 1:31.7 9-10-10-9 | 38.6 | — 10 514 | BRI (&R
10/8]11) F¥754RAE— %.0 ) Ly | EEEE
RIN=—WITSA BRARYA—RAE— J—HYTr—1I
T w3 t 8 | ARERKH 1:34.5 11-11-11-11] 39.7 | — 11 | 495 |EHEX &R
179 | YYUFTva * 56.0 (94) ) | Ir—2bevay
R:vavrvhyy #B:Fvidvya ke
@ 1—F—&RIEL
13—7F— 4,10,1,6,(3,5,8),7,11,2,9
20—F+— 4,10,1,6, (5,8),7,3,2,11,9
30—+— 4,10,1,6,5,7,8,3,2,11,9
Mal=5r= 4,1,6,10,5,7,8,3,(2,11) ,9
o ILRE
BB 6 1B0H| | 94K 5-6 340M e B 5-6 1,170M 3EE 4-5-6 940M
B B 6 1009 4-6 1004 (=1 6-5 1,290M 3EH 6-5-4 3,700
5 2004 4-5 7504 Fs E 5-6 990M
4 1109 =51 6-5 1,490

ABIC OV TRUTEREERRODDZE. THRIIZEL.




